Lecture 11 8.321 Quantum Theory I, Fall 2017 52

Lecture 11 (Oct. 16, 2017)

11.1 Path Integrals

As we have seen, the amplitude for a state to “propagate” from coordinates (z,t) to (2/,t') is given
by the propagator,

K(of s, t) = / [Da] SO/ (11.1)

where S[z(t)] is the classical action of the path z(t),

Slx(t)] = /dt’ L(z,&,t), (11.2)

for L the classical Lagrangian. The integration in the path integral is over all possible paths z(t).

We need to define this precisely. In particular, we need to write a measure on the space of paths
in order to know how to properly integrate over all paths. The strategy will be to start with the
definition of K, and then derive the path integral and the appropriate definition of the measure.
Then we will go back and recompute K for a free particle.

The starting point of deriving the path integral is to use the composition law for K, which
comes from the composition law for the time-evolution operator. Recall that the propagator K is
the matrix element

K(z,t;2',t") = (z|U (¥, t)|z) . (11.3)

From the composition law, we have

N-1
K(zn,tn;zo,to) =/ T dox K(on,ta;an—1,tn-1) - K (1, t1; 70, to)
k=1

N-1

= / H d.%'k <$N|U(tN,tN_1)‘{L'N_1> ce <m1]U(t1,t0)\x0> (11.4)
k=1

_ / H dxk <$N|€_ZEH/h’$N—1> L <.%'1‘€_“H/h|$0>,
k=1

where € = ¢/N. This expression holds in general for time-dependent Hamiltonians, if we understand
each occurrence of H in the expression above to be a function of the time.
We now consider a single matrix element in this expression,

(@jale M Mas) = (@ e TRz (11.5)
where
P’ Vv 11.6
T = — = . .

P vev (116

Note that

—ie ZG(T + V) 62 (T + V)2 —i€ —i€

e (T+V)/ﬁ: 1— - o o +...=¢ T/ﬁe V/ﬁ+0(62) ) (117)

Thus, if we take e — 0, N — oo with Ne fixed, then we can use

e ie(T+V)/h 20, —ieT/h ~ieV/h (11.8)
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We can only make this replacement legally in this limit, as these two expressions differ at higher
orders.
We now choose € small so that we can safely omit the 0(62) terms above. We then have
(wyale HMas) 5 (4 |emrP"2mhe iV )

11.9
7i6p2/2mh|mj>€7i6V(x]~)/h ) ( )

= (jple

We see then that we only have to evaluate the matrix element for a free particle. We can evaluate
this by inserting the resolution of the identity in the momentum basis, which results in taking a
Fourier transform:

2 2
(@1 ]e P2z ) Z/dpj (xj511py) (pjle P /™M )

— dp] ipj(Tjp1— z])/h —zep2/2mh
/2777@ (11.10)

mo imeipi—e))?
= e 2he :

2mihe

This is the same result we found in the last lecture.
Thus, we have

[mjp-e)? Vi)
m Z[ J J _ h] :|

—ieH/h —0 e
(xj1]eH/M ) 2 e : (11.11)
We then have
2
N/2 - 1{m<z3+1 25) 7eV<zj>]
K : = i ( ) im0 |7 e " 11.12
(o twiao o) = lim (S / H day e (11.12)
N—oo
Ne=tn—to
In the limit € — 0, we have
dz
Tjt1 — X5 =~ ea s (11.13)
which gives us
(2j1 —25)*  (dx)?
T e — ) . 11.14
€ ‘ dt ( )
Thus,
N—-1 2 2
m(a:j_H —a:j) B EV(ﬂfj) e—0 1 /dt 1 dx . V(x)
, 2he h h dt
J=0 (11.15)

1 [t

to
where L is the classical Lagrangian. This is the desired result. We now define the path integral
formally through the limiting process

N-1 N1 —e)? Vi)
iSlz(t)]/h . : m N/2 250 { 2he TR
/[Dx] e : 1\%1_1% (27rihe> kl |1 dzy e . (11.16)
—00 =

Ne=tn—to

The factor in front of the product of integrals is required to make sure that the limit exists.
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Now we will recalculate the free particle propagator. Let us choose the number of steps to be
a power of two, N = 2", and let us define

N/2
fov = <2mht> / H day, e 20t ¢ 2y @) (11.17)

Again, we have e = t/N. Expanding all of the squares, we see that

Z(:Uj+1 — xj)2 = x% + 227 + 256% 4+ Qx?v_l + 23 — 2wy — 201y — -+ — 2UN TN - (11.18)
J

We now carry out all of the odd integrals first, which will cause the problem to simplify. We find

n . on
Kn :/ H dl'j/ H de‘k <21:?ht>elgft[2mi+xi1+xz+l—2xk(rk1+zk+1)]

7 even k odd
im?2" T _1+x 2
/ H dxj/ H ds < > im2 {Q(J;k— k 1; k+1) +%(mz+1+xi71>—xk+1zk_1:|
7 even K odd 2miht (11.19)
n—1 2”7 2 1_1 n n—
- <n;2'ht > / H dzge e S Ly T (waea—ar)?
0
- KN/Q .
We see then that
m im 2
Kon = Kone1 = Kones = -+ = K¢ = m(foxo). 11.20
o e e e L=\ 2mime© (11.20)

Thus, we have recovered the expected result.

We can explicitly evaluate the path integral for any system in which the potential is at most
quadratic in z, . We will see several examples on the homework.

The path integral formulation seems unwieldy. Why does anyone bother with this? This is a
completely different way of formulating quantum mechanics than we have seen previously, but it
is completely equivalent to our other formulations, so what is the use? Feynman emphasized that
different formulations, even though they are mathematically equivalent, may each be useful for
describing different systems. Furthermore, we can use a given formulation to generalize quantum
mechanics, and the different formalisms may not be equivalent in these generalizations. Finally,
as Feynman says, it feels psychologically different to be thinking about the same physics from
a completely different perspective. In practice, path integrals are not usually a practical way of
solving problems. However, the path integral gives us quantum intuition, which allows us to say
many things about how systems will behave, even if we cannot solve them exactly.

11.1.1 Technical Detalils

For each time step, we wrote

. _dem (41755 \ ey g
<xj+1|e*“H/h]:1:j> =e 2 ( 2 ) A2 (11.21)
It seems arbitrary that we wrote

e i€(T+V) /N o, o=ieT/h—icV/h (11.22)
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instead of
e~ te(T+V)/h o, o—ieV/h —ieT/h (11.23)

in which case we would have had V(z;11) in the exponent of Eq. (11.21) instead of V (z;). Either
is a perfecetly good choice to the order at which we are working. A more symmetric choice is to

TjH+Ti41
use V ( 5

This choice is very important for the particle in a magnetic field described by a vector potential
A (through B =V x A). In this system, the Lagrangian is

1 5 dx
L= 5 m® +eA- yr Vix). (11.24)

Here, in the quantum mechanical path integral we must use

A—>A(xj+2xj“>. (11.25)

See the homework for more on this.
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